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GENERAL APTITUDE

1. Which of the following sets are odd numbers?
=% § & i &7 "7 oo wea 22
FIRAYO F1RIG 699 64T 62RR 2YF AWl ?
T FHIOTAT Hg BT T Hed=T 99qg Ae?
A)2,3,7,9,11 B)1,3,5,7,9 0)1,2,579 D)3,6,8, 11

2. A car covers a distance of 200km in 2 hours 40 minutes, whereas a jeep covers the same distance in 2 hours.
What is the ratio of their speed?
T 17 2 5 40 e & 2007 T Ft T a9 Feam g, Tai+h UF ST qgl g1 2 5 § TT FLdT gl Sehm T T
ST FIT 272
6915 @IQ 2 A4l 40 JF66Q 200 @F @QQ @RI, 6J6066R & 66T FY 692 QO0IQ 2 QLI6Q
R PRI 606 LAIPER 6RQIR ARUIG XRSI?
U MEr 200 FReieT 3 3iav 2 99 40fRera 19, 9€ U SHY d9ed q< 2 qrEid STd. 97 T

T Fohdt?

A)3:4 B)4:3 C)4:5 D)5:4
3. 18........ =2 (What will came in place of ........... )

18........ =2(eiinnn & T U T HRIAN)

18........ =2 (AU R DIEA R YL Y oo )

18........ =2 (RFT AT« )

A)6 B) 18 C) 36 D) 81
4. Each edge of a cube is increased by 50%. What will be the percent increase in its volume?

T 5 o T 0L | 50% il giag il ST g1 ST Aqae § Tq9ra Jiag F47 g2

R 996899 98 Ieg 50% 94948 Q8 AR 6062 ILIQ ARTRER 6060 JFI0 QF 627?
T IATRITET a9 50% o ATETeetl. T AT F9aT fohdi aTea?

A) 50 % B) 150 % C) 133 % % D) 237 2 %

5. What is the sum of 5x° — 3x* - 1 and 3x* + 1?
5x3 — 3x2 - 1 3f¥ 3x2 + 1 T ART FT &2
5x2—3x%-1 and 3x% + 1 Q 6919 TR 6960 ?
5x3 — 3x2 - 1 3for 3x2 + 1= 909 fet?
A) 5x° B) 6x° C) 5x D) 3x*

6. The cube root of 1331 is ............
1331 FTHTHA G oo :
1331Q AR@ 6208 --------
1331 3 T fohefl............ :
A) 11 B) 13 0) 19 D) 17

7. If 6 is 50% of a number, what is the number?
Tfe Tohelt T=aT &1 50% 6 & a7 a8 §edT #4757
9@ 6 6915 QIR 50% 2, 6969 6QF A°HIT Q&7
TaHT H&d=T 50% ST 6 378, 9% o 9&dT FId1?
A) 10 B) 11 C) 12 D) 13
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8. A clock seen through a mirror shows 8 o’clock. What is the correct time?
T TYUT H @ T Uah A1 8 ool T G0 [Q@Tdl gl Tel aH7F F47 872
601G Qeiq Qde6a eyl QIR ¥2IQ AAY 8 ALl 6RHITNII 6069 Y2IQ A0R. ALY 6R6G?
AT ATAAAT TZHATA 8 ATSIA M. L ASATBIA AT Tl AT ATGA?

A) 8.00 B) 4.00 C) 12.20 D) 12.40
9. All natural numbers and O are called the .................... numbers.
A) whole B) prime C) integer D) rational
T ITHT FEAT AT O oo, HEATT FgATd 2l
A) ot B) & C) TERT D) Yot
AL Qlél QLINB0Q --------- A4l 61 QeI
A) agd B) @@ C) asia Qo D) aaeeig
TS G T AT O FTAT =--mmmmm T FEUTAT.
A) T FE T B) stfararsa Hear C) qurish &&aT D) 7 Hear

10. The least number of five digits which is completely divisible by 39, is .......... .

39 & quiqaT faraTiSra g aTeit 91+ 3! &l 999 Bl LT g .......... :
dig e Yoo A°HYl Il N¢ QA SN Q12! 62QF ---------

A) 10101 B) 10062 C) 10016 D) 10023
397 T AT SITE e 72l TMATA AT ITH She T AT, HIAT ..., .
A) 10101 B) 10062 C) 10016 D) 10023

11. Field inside a solenoid is:
A) Directly proportional to its length B) Directly proportional to current
C) Inversely proportional to the number of turns D) Inversely proportional to current
T HIATAE T HqT A4 gaT &
A) ZEET SaTS HT HTET FHTATAT B) F¥e T e FHTLITAT
C) AT T HEAT T SRATTATA D) e FT SGHATIATIT
6AEARNL FIRIGCR 2R TR 6208
A) ¥2IQ A7 ABG g QUWER AAIRUGR  B) @64 Q80 gIY QI96R ANQAIGR
C) odia ¢l 920 FUQI0 AR AALARR D) @604 AG FUQIC VIR AAQAICR
qifeAiseadTe & &

A) ATE=AT FHTLATAT 378 B) YaTg=AT HHTIITAT ST&d

C) IeAT=AT =& THTIFT D) TATET=aT =¥ YT
12.  General formula of alkyne is

S TosheT T TTHTT G2 &

NN AIJIQE @ﬂi@l 6208
AHAT TS TAATETIOT T A
A) CnHn + 2 B) CnHj)n C) CnHjyn -2 D) CnHn
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13.

14.

15.

16.

17.

Flow of energy in an ecosystem is always

A) Unidirectional B) Bidirectional C) Multidirectional
T TG § Soll T TaTg gHT gIaT &

A) TEfTeTER B) =T faerrsti # C) ag farmsti &
659 g4InIea 980 gl Aol Y@aa 62Iaelid

A) 6915 G96Q B) 9@ Gal6Q C) @2 @a6Q
TETT TATALOTA A o7 TATE BT AgHl

A) TE= o+ B) @1+ fReri=t C) Fgiaer=r
Which of the following is an abiotic component

A) Plants B) Animals C) Sail

9 & & #9 UF aifas aa g

A) T ~ B)S C) fagr
FIRYE UG 6996 IR AIFCER AUIRIR

A) og B) ag C) A&@<l
ATA A HIVTAT e & AT 318

A) FAEIAT B) wruft C) |t

Acid presents in bee sting is

A) Methanoic Acid B) Hydrochloric Acid C) Acetic Acid
HYHFET % $F § HISE o+

A) faEF v B) grES oI 3% C) ufdfes st

A2013Q ga6a 2l QT 6208

A) 6c2llcrlaa ¥de  B) 21q6216918% ¥de C) 9dda wde
Trefi=aT Anfraey o st e

A) fadeTze st B) Sl o+ C) Tfefes st

A gap between two neurons is called

A) Synapse B) Axon C) Synthesise
ZT =T 6 14 T AL FgATdl

A) fre B) e C) fioams
QA5 QAR FRIER 2R MIUIRR 12l QLI

A) dgiad B) &I19% C) d62QIae,
T AT STaCE FTT Tgorara

INEIREEE B) T=ie C) e
Printing was first developed in

A) Japan B) Portugal C) China
HEUT T g Tahrerd gat =T

A) STaTH B) T C) ==

d&° @Iy galee 1@ 69469 390 6212

A) laIQ B) 621§ QIR C) cla@!
STIUT FHIOTCAT ST TR &l fawiad el

A) ST B) T C) =TT
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D) None of these
D) 8 ¥ TS TEf
D) 9g3@ F1Ig 6206 Q62

D) T U & ATer

D) Microorganism
D) Tewsia
D) A6 I2eIREA

D) ﬁiﬁqﬁlalul

D) Sulphuric Acid
D) Flc'q:zcl i 5 h AFA
D) dagide 9de

D) Sew I o

D) Dendron
D) ¥g
D) 68428

D) 33t

D) Germany
D) STH+T
D) @d1@

D) STH+T



18.  The newspaper started by Bal Gangadhar Tilak was the

A) Kesari B) The Hindu C) The Statesman D) The Tribune
T T T 1T e TRt 3T | |m=ea e 9T
A) FELT B) 3 Rg. C) T TeqHA D) = fe=gm
QM SlerldRN oNee QIR TR RADINZ QN TR RIPR LT m
A) 624Q1 B) @ @q C) @ 680QANIR, D) @ Q4
TS TR fEHTT & Hefel TAHTT T AT
A) FE B)zfEg C) T TecHad D) 7 feeq
19. In which one of the following states is terrace cultivation practiced?
A) Punjab B) Plains of Uttar Pradesh
C) Haryana D) Uttarakhand
5 5 & fohe <157  HEAT St 6F ST 572
A) STE B) 3T YT T Ha
C) ghamom . D) 3TEE
PINYO RIQ 699 AR TU QTR ALY FRUAIRAN?
A) a&ilq B) @@Q g6@da Aow 2SR
C) 28! D) 2eqidg
AT FHIOTAT TSATHET THTALAT ANTEE heA T ST ?
INREIE] B) 3T¥ Y=o araTe - C) g D) STTEE
20. The National Consumer Day is celebrated on
A) 24th December B) 24th November C) 24th October D) 24th September
T ITATH f&ad =& fad 79T 51T 8
A) 24feHaT B) 24 749X C) 24 srpex D) 24 ffdav
RV AT T 1@ QIRHER dIRe AU
A) 24 @629Q B) 24 @62 C) 24 26QI9Q D) 24 6Q69AQ
T ATga & FefT AT FeT STl
A) 24 fTHaT B) 24 Hrega< C) 24 sAt#FeraY D) 24 qeda<
DOMAIN KNOWLEDGE
21. “Knot” is a defect found in a kind of timber which is caused by
A) Attacked by fungi B) Attacked by insects ~ C) Natural cause D) Attacked by animals
‘T AFST H TTAT A ATAT T T FT (1 & St feor grar g
A) Tt T gHAT B) el T gHaAT C) YT o D) TSIt T gHAT
dd 6208 Y@ gelaa g6 JIIe 6d6ldd geia QI06a 64NN KI2l 8@ QIR 62121
A) TERQ 2AIRNE 629 B) @19 QA8 629 C) gl@@@ @I D) dgQ RIS 629
“Tie” B TRt TRTe=aT feaem e I arg, ST GTetiel Jehl e grar
A) BT gt oA B) foRaahi=t godtT sheard C) A9t e D) YTUATHT e FedT
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22,

23.

24.

25.

26.

Which of the following is not a straight cutting saw?

A) Rip saw B) Cross cut saw C) Compass saw D) Panel saw
99 & & %7 U |1l Fere o Agl 87

A) o ey ~ B) &9 #1e oy C) T S D) freer &Y
PINYO RIQ 6RRE IR ARH AR AT AQC Q6L ?

A) Q9 900 B) @9 96 9@0Q C) /¢l K9Q D) QI6QR K99
ITATA FHIOTAT LB FTIUMTL Flad Ag?

A) fa Faa B) 19 & FLad C)&ITH FLad D) 99 Fead

Which saw would be the best choice for cutting and opening wall board for a switch box?

A) Hacksaw B) Coping saw C) Keyhole saw D) Fret saw

e o= gia F o 9 91 Fied v gre & o qe9 sr=an fAseT #1991 ge?

A) ZT ) Hf e C) e D) %= st

@ oo Q9 IR Glm GQI{/SGjL QITQI 6 6HAQN IR 692 AT A IAT AR 2AEE'?

A) 219 @QQ B) 6210° @0© C) @62I0 909 D) 66 9010

et o= S i a8 STSTITHRLAT FIIUIAT GATOH FLad oA 1?

A) gxat B) =rfuT At C) #igrer |t D) W= |t

What is usually used by a carpenter for marking on a piece of wood?

A) Highlighter B) Pen C) Pencil D) Chalk

TR % TS T QAT T o [or7 a2 378 & Fhaeht ST ATEmoraar F:dT 872

A) gTEdTzex B) FeH. C) it D) =T

R0 HLEQ 52 JIR @R IR D68 FERRT QR QLR ARIAS WUMER ML FRULIR2N?
A) QIMATR B) 69% C) 6024 D) o@

ATHESTAT THSATALAT GOT HLOATHRIAT FATE ATETOT TU7 AT ATILAT?

A) gEATEEXT B) U9 C) ufrarer D) @g

Steel rule is used by a carpenter as

A) Drawing tool B) Measuring tool C) Chipping tool D) Weighing tool

TEE T T TSI AT TN 27 = F a1 1T 8

INEUELE SIS B) AT T 3ATC C) & T i D) 9T¥ /IO T T
TR QNQ Law QA FUG QIRER MR QUL

A) 2 G B) clld @8Q 9@ C) 83° gm D) 69% @82l 9N
ATTET =T Tt F1T U ATILeAT STA?

INECERIERIET] B) 9TIATH ATEA C) AT ATdH DEEREIELRIERICTE
Which tool is used for extracting nail?

A) Clawless hammer B) Claw hammer C) Sledge hammer D) Ball pen hammer
Frer fAeTer = o o et &7 ST o Strar 272

A) F09 TET gAET B) F19 gATET C) Tt gofteT D) &t U9 gAT=T
R4l Q21 FA IR 69 TAQ NILAA FAUILAIN?

A) @emd Q9 B) @ 291 C) 64@ Q9 D) @m 69 Q91

&t FTEUATHTAT FITAT TTYATHAT ATIL FeAT SATAT?
A) TEIT AEAAT gIATel  B) AEAT €Tl grarer  C) =0T STEerel grarel D)aie 9 grarst
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27.

28.

29.

30.

31.

What sort of material is PVA glue good to use for?

A) Impermeable B) Rubber C) Porous D) None of the above

PVA TTig 38 YoY% 9T & o0 =T giaT 872

A) T . B) Ta¥ C) =fea D) ST & & F1E AL

JeIY g, @ 699 geIa JRId6q R AR Qe 26S? . .
A) 266ty B) 09 C) 894 D) QU6QI8 G 68R6 Q62
PVA T aTa¥0T 9T TeRTE=AT GTATHRLAT A2

INERE] B) w&¥ C) wifesz D)ATA I Teh gf ATel

Which of the following is a major characteristic of an Epoxy?

A) They are very strong B) They are very cheap C) They are very weak D) None of the above

9% § & *i9 U I AT T 0 572

NITETEI TS B IAA NN ANE )T A AN S D) R A A
QRIMG @ ¢ldQ eI 6 @68 @€l 2UCS'? . .
A) NG5 920 86 B)NgGR 920 921  C) 49e@ 920 @9 D) QU8 T1Ig 6206 962
T FHTOTAT UTETH BT STIFE AT TgcATAT TUTEH IS ?

A) T X TG d9d B) I I FEEd A9 C) T WX F#Haad odd D) IT U &f ATel

Cyanoacrylate is a multi purpose glue which is also popularly known as

A) Soft glue B) Hard glue C) Super glue D) Hyper glue
Cyanoacrylate TF agetia M= ¢ 5 & =0 =7 § ¥t a1 S[ram 8

A) TH T B) T&d MiE C) gu¥ iz D) g=Ux Wi
ARAERUTEMG. 6208 U@ @281 20! JIR] ARG A AR 1@ FIN6Q K4l 26T

A) QTS 9. B) 21% @ C) Q9Q 9. D) 2IQ9Q 4,
AT FLAE T U TgTARI Mg g SATAT UG FIVeAT AT 3@ ST -
A) | 7 B) BTE 7 C) ¥ 3 D) g 3
Which type of joint is use for making shelves?

A) Bridal Joint B) Mortise joint C) Bevel Joint D) Housing joint
TR TTT 3 ST T START 2ed a9 g grar 872

A) ATZEA STIE _ B) Hiel=s S SEEEISIE D) TR S
6ARR 920 P0QI UIR 699 IR IR NRLAQ FAUIN?

A) QAN @& B) 67116 10@ @44 C) F6am 94 D) 21ad° @94
HEATHT TTATATRTAT FHIUTCAT TRTLAT ATEATAT ATTL FeAT SATAT?

A) FTIE TqIET B) HIZfeq TeT C) dtarer |eT D) BT |eT
Which of the following board is used for laminated cabinets?

A) Hard board B) Card board C) Ply board D) Particle board
e Shfde & forw A § o o a7 =1 73R grar g2

A) TTE 918 B) *TE &< ~ C) e AIE D) qTféwet ar1e
ATERE0E QUFERT AR FIRAYE AIG 687 6916] IR FAUAIRN?

A) 1% 6919 B) Q1% 691¢ C) QIQ 691% D) gIedq 6Q1¢
ITAA FHIOTAT FTSAT ATAL &T ATHACE hiae A ATITHLAT heAT STTaT?

A) T aIE DEIEEIE] C) @ a1 D) Tféshet &
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32,

33.

34.

35.

36.

In the terminology “plywood”, What does the term “ply” mean?

A) thick layer of wood  B) thin layer of wood C) thin layer of glue D) None of the above
“CATZATE” o 953 H “TATS” oTeR AT A 72

A) THRET T AIET T B) ST T el T 0 C) Tt it Tarelt a7 D) ST & & F1E AL
YNNG, INER G 2lel @4 2667

A) R0 641191 IR B) @l0Q dowl 9 C) A dowl 2R D) QdQIs ¢1q) 6RQ0 @ﬁ‘j
“CATAAE” AT TAHLY, “TATA” AT AaTAT 371 FHTA? -

A) ATFSTAT TS I B) AT UTde 9% C) =T ITde qT D) =T U &f ATal

The difference from a given point on one thread to the corresponding point on the next thread is called

A) Helix B) Pitch C) Lead D) Travel

U Gd o T& Tavg F 3TAT Gaq o A=Al (a5 & S A7 HdL FgaArdl g

A) gfera B) fi= C) i D) Im=IT

NG 4OIR 691G aaQ IR 4ol dlg 9@ d& agye Q@RI GlejQ‘{@_ @€l @LIdIN

A) cemg B) d& C) me D) glewm

TeRT =T feredT [HgITga O TE=a1 J==4T §ai9q Agudaar wehrdT w1 Fgurara ?

A) ger B) fi=r C) &< D) ¢aa

A device attached to a wall behind the door mounted on the floor to prevent opening the door too wide is called
A) Door lock B) Door bolt C) Door stopper D) Door clamp

STHIF 9% TITU T Z2ATS o G1eg 1T F S[ET U I ST SLATSAT Gl & AT 8, FgeATdl g

A) BT &TH B) ST alee C) ST &T D) SIT &4+ .

Q2 ALQ L°YD 6LI0G N (@ QURNAE dIL| 9016l QUER Q@I I QIR 694 6ollem AI@ QLI
QLI

A) 6210 M@ B) 601 QMG C) 69 FIQ D) 6@l Q¢
@ﬁm%%ww STS[AT ATIATd STUh & LATSIT U SITE WH@, ATAT T FUIATd
A) TR FAT B) LT dTee C) T T D) ST FA T

Which part of the tree is the most useful for carpentry work?

A) Root B) Bark C) Sapwood D) Heart wood

T AT AT T AR FTLT F % (o7 FaTieres TR T g2

ASE B)=me C) &= D) gt I

dRA 6@Q UGS @0 @If! di A6 IRI AUSS' ?

A) (@ B) 92Q 68 C) didee, D) 2Ie Qe

HATLRTHTR AT AT THAT o dTd 3YYTh AHAA] T FHI0TAT?

A) 9% B) @re C) Huqe D) g 3=

Which of the following cannot be done by a circular saw?

A) Ripping B) Cross cutting C) Grooving D) Drilling

99 & & o U FTRIE ST & Al aeTaT ST 9edT g2

A) R . B) hi® e C) qfaw . D) f¥ferr

PIRAYe AIG 6996] IR RIFQ ARG R FAUAIRAIAR AL ?

A) @de° B) @4 @&° C) g@° D) @@°

T IO TRAT ST TR | HLaT AT ATS1?

A) R B) 1 HfedT C) gfaw D) f3ferr
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37. Which............... size determines the coarseness of a sheet of sand paper?

A) Sand B) Paper C) Ferrous oxide D) Screen

e T o T I8 &l JleTs 1 o o .., AT & ZraT 82

A) &= B) TI¥ C) T siieFdTse D) &he

e AR, AARNIRA QAGIQ FHIRG @R2N?

A) QR B) @lol@ C) 6F6Q1Y 28 192 D) @

HeE TC=AT GeEd TUTHD ------- AR AT Hesd.

A) a1 B) #TTE C) T AT D) e
38. What does MDF stands for?

A) Mild desert fibreboard B) Medium density fibreboard

C) Maximum density fibreboard D) Mix dry fibreboard

MDF =T 312 #7497 572

A) Mild desert fibreboard B) Medium density fibreboard

C) Maximum density fibreboard D) Mix dry fibreboard

Q@I 2 Qdl?

A) QAR 6996 TIANEUE B) fiGaq 60238 TINQ6RIE

C) QIR 69246 TILIR6RIE D) §ig @I TILIR6RIE

THSIUE =T 7 F1I?

A) ATEeE T2 HIIEElE B) fafeww =t wraeae

C) #fazrvy et wrar a1 D) fa 3T W

39. The technique used for manufacturing material in multiple layers, so that the composite material achieve
improved strength, stability, insulation, appearance due to use of different materials is called
A) Toenailing B) Lamination C) Hinging D) Sanding
STerh U § ATHUT ST o [oIT YIh Tohet 19 FAT F@ATAT & ST (TS TETT o ITANT o HIL0T GHIead
Tl H AT, T, Ty, TET § eI AT g
A) ZrfeiT B) wtfamar C) BRfr D) #fer
QLM 6RAINEA B TRIE AR NLYQ ARSI 6FHR, AL FEAIFG. AL ARG VG,
0!I, ARYendR, Qd Slal=Ns (=} aQlda QeI 62Q dIRAIN LILIQ QLI
A) 651NERM° B) aIficqde C) 2&e D) QuI&e
THTTEAT SITET AXTHETT TELAT HHIA T ATl STOTAT Ao, Haredr aege qetadt, e,
T, TIET AT AT TOHRIE 1T Forard
A) Tt B) sffA=are C) BT D) Hfeer
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40.

41.

42.

A nail is specified as A 50 x 3.0. What does it signify?
A) Nail 0.50 mm long (not including the head and 3 mm in radius)
B) Nail 0.05 mm long (not including the head and 3 mm in diameter)
C) Nail 50 mm long (not including the head and 3 mm in diameter)
D) None of the above
U e il A 50 x 3.0 3 FT § a(1ehd FhAT 1T g1 T F4T TS Fizar 872
A) F1 0.50 HIHT @47 § (2T 307 3 Hidt FBear anfia =1 8)
B) i1 0.05 HiHT &aT @ (2 3li¥ 3 WiHT =T At 72l 2)
C)WSOWW%@E@TBW@W?@HH@%’)
D) 3Tk | | *IS Aol
@ @l 50x 3.0 616@ QEIQIQE] ¥2IQ 22 Q412
A) R8I0 A2 6228 0.50 A4 (g€ 6 3 A8 AL} 21F)
B) @9IQ @2 62@8 0.05 A¢ (g« 6 3 &d QuIag 21¢)
C) @9l 50 A4 @n (8 6 3 A4 quiag 21§)
D) QU6QIa ¢1dQ 6@ 96@
AT fear JfereaT g A50x3.0.a1g%wwwaﬁ?
A) T&@T 0.50 mm T 31T (AT ATSAT SIHFATAT GHTAL qATel ST ATHT 54T &F 3IMMUAET 377g)
B) f&r@T 0.05 mm (e 3T (AT AT=AT ST HHTAT ATl A0 AT 2ATH §3 MMUAET 3T8)
C) et 50 mm T[T S (SATT ATAT S FATAT THTALT ATET A0 AT SATH g 3 mmUAE! 3Y)

D) T U & ATet

What is motor driven, handheld chain saw used for
A) For making plywood B) For making laminated wood
C) For making particle board D) For felling tree

Hex AT, BT § ToheH a1l =+ AT T TR fohere fore grar 8
A) wITE 9 a9 & forw. B) aHiMes g2 a9 & forw

C) ITfeahe A€ aaT oy D) ure firer 3 forg
67l9Q LIRNCVR, @HI@G@R@ 60N @NVR GQQQGI@ LR @QULIN?
A) YRR gg@ IR B) RIficn6c@ Q9 ge6 ai
C) AITER 691¢ 926 AR D) 6 QITQl IR
HISTRAT ATAVTL, BTAT AT AU = TI FHATHLAT ATTLAT ST
A) TTIGE FAfauATHRLar B) @i 3= safavamwear
C) uTfesher dTE aafavaTehear D EIERIEARIETGII
Which one of the following can best resist attack by whiteants?
A) Rosewood B) Teakwood C) Kail D) Chir
e & & YT ahg AT o SAHAT T ST=hy YLEAT 3T 872
A) TS B) fewgs C) e D) =¥
FANYE F1UIQ 62RT QA IR AQ0IG AR AR JELY @AIQIN?
A) 6QIRQ B) §@Q@ C) Qlam D) &Q
TEATIAT=AT Tl qaTq SITed Tqah1< 07 I9ifaar?
A) TSTE B) feshe C) et D) =2
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43.

44.

45.

46.

47.

Which one of the following is an example of Softwood?

A) Redwood B) Rosewood C) Wallnut
e # & F19 HI9eq= T UF 327270 872

A) =T . B)mEE C) aae
RIMYQ UG 6996 AT IR QQILQE?

A) 6Q22% B) 6QIRQ. C) GIRAe
T VAT TR ET HIFAE AT AG?

A) =TS B) TgE C) atade

The principal types of trusses are named as —

A) Collar Beam,Gothic  B) Queen Post, Mansard C) King Post, Latticed

YT L 6 = T ATH 218 —

A) FIE 19, IS B) fi< ee, ga9e C) &1 uree, afees

gas geIea 96a9] QeI

A) @RIQ 9, 601K, B) @R 641}, 99Ql¢ C) A 618, AITA@

D) Cherry
D) =&t
D) 60&

D) =&t

D) All of them
D) =a# & 7T

D) @deqle A0g

FAT = THE THRTLHT AT FHI7 -

A) Ftae fam, wifas B) fil 9ree, Aer C) fr e, e D) ATt |Tes
Flat roof may covered by-

A) lead, zinc or bituminous substances B) thin aluminium sheet

C) all of them D) none of them

T T TEH EhT ST qehet T § —

A) ste, 5 =T fee e vt B) sregHiaae &ir Taq«t uxq

C) zH & 7Y D) =¥ & g TLf

qIS QT 92l QIR RIS 621RTIER

A) Qe, ox Q gfeq aIQle B) ae@l 2Ipfidea de.

C) u6qie A0 D) QU6aI8 alg 699G Q62

TS B AT ATHTE -

A) o, = T feeg e Tared B) UTd® =g HI=aH =t ofie

C) AT T D) T Uhgl ATET

Which one of the following is not a natural adhesive?

A) Hot glue B) Starch glue C) White glue D) Casein
99 § & 9 UF YTHia® T69eF qal 8?2

A) T T | Byedir C)EwadiE D) 3refier
PINYO RIQ 626 IR FIRER A0l Q6272

A) 29 4l B) QU N C) 216, Q| D) @I64a&,
AT Hrorar it free qars TiEr? ~

A) gz 7 B) ¥eT= 7 C) =gTEe 7 D) e
Which of the following is also popularly known as web clamp?

A) Hand screw clamp B) Pipe clamp C) Mitre clamp D) Band clamp
9 & & o a9 Fo¥7 o =7 | AT ST SIar 82

A)EEEFFT  B) TR FAE C) Hiex FF T D) 5T e
FIAYO RIQ 6296R CAIRT A VA 632, QI YRIAN?

A) 2418 9@ QIst B) i< Ql¢ C) fieg st D) Qui& Ql¢t
TTTRT 9MT; AT TAATHTLOTION I FA T ST FgOTATA 2

A) 37 T FAFT B) 9Te FAT C) f=r w/tvw D) & Fi¥T
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49.

50.

51.

A Is a zig for wood working which is used in combination with a hand plane to trim and square up
the edges and ends of boards.

A) Bench vice B) Bench stop shooting board

C) Mitre box D) Ratchet brace

L TR ST T BT U IR & Forerert T grer 3 A7y ferse a1 5 e s e a6y st & oo
BT 2l

A) 37 a2 B) @ =T qfEr A C) Hiew At D) Y8 74

@ -----mm - 6238 QIO IR K @9l dILle GQI@Q QII&‘Q]G;?L o @QQl IR 2YIE 69R A0 1@
Q% IRNASA MILLIQ XA NI

A) 698 QIR B) 698 &d 46° G‘IQI{/,§ C) fi6g @9 D) QU696 69K

-------- &l ATRSTAT HIHTHRLAT ATILAT SO BT 3178, SATAT STANT g1 UHRAqII grevdaag are L oy
T To/ STTor S AT heAT STl
A) = arse B) av= T giféwr ae  C) for afsy D) ¥e=e a9

Chemical seasoning is also one of the methods of artificial seasoning of timber. Which chemical is used for such
seasoning?

A) Potassium B) Salt C) Sulphar D) Glucose

T HISTIAT TS T FAA HISTAT 6 Toh T g1 FH TR 60 IS 26 forg e Tamast o1 92 2rar
29

A) TreTfer B) @ C) A%< D) & _
6adialn dad° 6298 @10g Q8 RUNER IRF° PR Y@ IR 9@ gala IFG° @Al AR 9@
g4l GQﬁQIﬂQ ML @AULDIRAIN?

A) 6211 Q¢ B) m€l C) dag D) Q6w
WU@WWW@WW@@W% ST T HTAT FHIVTEAT TR
THAA ATILA T2

A) Tresfm B) H#15 C) A%< D) TS
Length of a typical folding rule is about

A) 8 ft. B) 18 ft. C) 28 ft. D) 38 ft.

T HTHTT e & T SdTS 9T 2l &

A) 8 ft. B) 18 ft. C) 28 ft. D) 38 ft.

Q@ ARIKQE 6TIRNG® QR AR 6208 1K

A) 8 I6. B) 18 & C) 28 g% D) 38 ¢
T ATHTT TS g1 STRUTTAT TEIHT As T (o,

A) 8 T2 B) 18 &= C) 28 %< D) 38 %=
Which one of the following is not a type of hinge?

A) Security butt hinge  B) Rising butt hinge C) Flush hinge D) False hinge
B EICRELS EFrQ?FHOhuFI‘ng%'?

Agrarae g B)mEim Iz C) weter f2et D) wrew et
99]@&11@ €1IQ 6906 19 geIeQ 2 9627

A) dQUGT Q¢ @& B) QIQ&° 96 @& C) gdq o@ D) IRd @&
AT FHI0TAT TRTE 2T fasrrer=T (fBSr=m) werre Argi?

A) R 3 B9 B) Tz e B C) W & D) ®ree Bt
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52.  The rounded edge of the tread projecting over the riser, Usually 20 mm.—------

A) Rising B) Nosing C) Landing D) Going
TSI % SO e gaT & & el oy, qoreaaar 20 o . —----
A) TR B) =rfRT C) «ifsw D) =T
6820 64INIRG UIQ KLl AREQ QUEQ &I, ARIIQESS 20 AH ------
A) QUa&° B) 6aI@° C) @uide D) 6qli@°
T TIATHTT TS FET S AL TIoTF 2T ST ATETOT99r 20 THUH 378 —--—--
A) TR = GUER C) wfeer D) T

53.  The vertical timber which closes the space between two steps-
A) Rise B) Stringer C) Riser D) Trade
Ted ARET ST T TE0H o 1= [ AT 9% HT <ol g —
A) TTE B) fezme C) TSIt D)z
@G‘GPI?R @O diLl Q@@ 64ldI@ (1de YRl g @« @Rl
A) QR B) &9 C) QU@ D) 69@
ST fEaaeed T T T SR &2 gid degl-
A) TS B) feew C) TTI=IX D) 2T

54. A complete set of stairs reaching from floor to floor or from floor to a landing-
A) Flight B) Rise C) Newel D) Going
T T U7 HE ST FATE | FATL T FAL F AT qeh 1T 8 —
A) FTEE . B) Tz C) 79t ~ D) ST
dea @ 4d°Jd6l 646, JILl 9C€Q @08g Q@ @9'16lg MYl °a dIna
A) TIRG B) QIaw C) @63@ D) 6qli@°
AT
A) TTES B) TTE C) 7 D) TrET

55.  The top horizontal member in a roof carrying the rafters.
A) Barge B) Ceiling joist C) Ridge D) Rafters
TFeT IS AT B H o9 TR T3 2.
A) aTst B) #ifetr sTrgee C) = D) TThes
210Q 90 2094IN 6098 69R76Q AT QReIN
A) Qle B) d@° @9a C)ae D) Qugeed
TFH AT FATHE TIGATT ACAT SMSAT HEET FHIUTAT.
INERE] B) fafeiw stigee C) = D) TT%eH

56. Which part of the marking gauge is used to mark lines on wood?
A) Beam B) Stock C) Thumb screw D) Spur or pin
HTThAT 31T o Tohel ATT=SIT 7 TART bt 92 e @ a1 o for B simar 82
A)Eﬁ'l-T B) Tl C) da ¥ D) g =T fue
Q&e AR 6QQ U ROICRA MR, 980 @Al dIQ LR QUL ?

A) 3¢ B) €@ C) aa 9 D) 9@ QI 9%

ATRTSTALAT TOT FHTEUATHRLAT HITT IST AT FHRIITAT TITAT AT FeAT SATAT?
A) faw B) T=i® C) 9 &F D) =< et fi=
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57.

58.

59.

60.

Which one is not a type of roof?

A) Gable roof B) Skillion roof
TAH H I Zd F Uh THE A6l 872

A) T Fa B) f&ee =
6906 IR JRIQQ QI Q68

A) Ql6am Q<.

C) 29, Q<

TTATA FHIOTAT SATAT TR AT T2

A) tae B9 B) Fsferata =

What are trammels used for?

A) to mark out large diameter circles & arcs

C) to mark out large rectangle & squares

TR T THNT THF o7 grar 87

A) T2 T I & AT T [T FTAT
SEEIR &aﬁ Eﬁr o AT

OS2 GQQQQI@ QHQ@IQ GPQISEJI\’I‘?

A) @@ Q4 Q@ G ?JIG?Gi e G?QQI alQ

C) @@ ?JIQ.@IG?IQ ¢] QG”GNQ@L aIe Q6Ql AR

sHeaaT(RITRTET TSN ATIT HEAT FLAT HeAT STTAT?

A) TS ST FEA TS AT e FTSUITRLAT

C) HIS AT AT FE FTEUATHLAT

PVC stands for
A) Plastic Veneer chloride
C) Poly Vinyl Chloride
PVC #T 1
A) Plastic Veneer chloride
C) Pon V|nyI Chloride
d&de 2ol 62ad

A) QI8 QEQ 6QARL.
C) IR QLRI 6QUARR.
PVC =T &7 &1
A) wfees A s
C) wieft fafaer Ferse

C) Hipped roof D) None of the above
C)R==a D) 3T & & HTE ALY
B) 4R9R Q<.

D) 06QI TG 6895 262

C) fRvre =a D) aArefter hTel &1 ATt

B) to mark out small diameter circles & arcs
D) None of the above

B) B =T 97 & ATT &l {9 2T
D) ST & & FIE A5t

B) 62160 Q414 Q@ G ?JIG?Gi ﬂl@ QA9 AIR
D) @deQls ?1%]61 6906 96@

B) &I SATH STEelel T ATTOT el FIETATHRIAT
D) aATefter T &¥ ATET

B) Poly Vibgyor Chloride

D) None of the above

B) Poly Vibgyor Chloride
D) None of the above

B) 9 Q26491 6qQURQ,
D) QUEQUB CIIG) 6096 Q62

Number and locations of noggings in a timber stud partition are depending on-

A) deep skirting board  B) dado rails

U TS oh €2 TANTSIT § AT %0l HEaT 3T ¥4 2q9L ¥ H:ar g —

A) T TR FIE B) TTST & d

B) aieft o= gem FTis

D) =Tefier Wk €1 AT

C) chair-back rails D) all of these
C) = a¥-3% = D) zad & 7T

9@ 59 @ améea RA°Q 2I9Q Al 92 RUEQ FRR F6Q

A) @ AG° 6916 B) @16@I 6am

C) 6o9l-Ie 6amd D) @96ia 998

W%W%ﬁwwﬁmwmﬁwaﬁr?aﬁwm

A) T w=fdT a1 B) =T veH

1517_17 (B)
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61. Which one is not a seasoning defects in timber?

A) Crook B) bowing C) Heart shakes D) Radial splits
e § & I THST T HIEHT G ARl 22
A) T ~ B)difAw C) 2 D) ¥t efied
AIRFo rIQ 6996 DI06a INF° @Fe 9T Q6L ?
A) Q@I B) 6¢11G 62142 C) 216 634 D) Q@eim Ined
T FHIoTaT 21 fEawmefier Trafarr T arEr?
A) T B) &= C) BTe o= D) Y9« fewes
62. Which one is not a natural defects in timber?
A) Heart shakes B) Star shakes C) Knot D) Crook
99 5 & FIT ARST Al T T @ral dgi 57
A) g€ 0 ~ B)Ewa C) iz D) &%
FINYE G 6096 RI06Q IR JIQPe 96 gL ?
A) 29 69]9 B) @lq 624 C) 0§ D) QIgdal
T HIOTAT 2 [T AahiT a9 A1el?
A) BT ST B) T=TT o C) Aiie D) &
63. We don’t use green lumber in any milling process because-
1) It has not throughly dried ii) It contains tree sap
iii) Green colour is not good for carpentry iv) This type of wood will change over time
which are correct?
A) Only (i) and (ii) B) (i), (ii) and (iv) C) (ii), (iii) and (iv) D) All of them
ot ferfeieT ik & g/ g4 FTo 7 YT A5! ed, Fifh-
i) T8 T T a1 e ¢ i) SEH T2 hT T TEATE
iii) T 4T el & (o0 Jel 75l & V) 3H T T ARST THT % 1 T&A STTOIHT
T T FIT Tl 572
A) Fa (i) 3 (ii) B) (i), (ii) 3 (iv) C) (ii), (iii) < (iv) D) =a# & 7T
6@18d AR° gRAER ZI6H 919 AAUARQ N AR QS -
i) N2 am @I?GQ 6;61 @elNd . ii) 9g6Q 92 QL Q@I
iii) 96Q@ QMY I AP AF RAYS Q6L V) N2 gRIaa @10 A9 R6¢1 Q@7 IR
6026 0Q
A) eaaa (i) 6 (ii) B) (i), (i) 6 (iv) C) (ii), (iii) 8 (iv) D) @u6Qla 4918
i) T T AT THT ii) ST ATSTAT T AL
iii) 3T T aTeawHTRear FTeT TEd] V) FTATTLIT AT ATRSTHET T&A 21 SATATd
T VT FLET AT ?

A) T (i) Srer (i) B) (i), (ii) srer (iv) C) (i), (iii) =for (iv) D) &=
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64.

65.

Read the statements below-

1) Co, extinguisher should be used on gasoline fires

ii) Water can be used to extinguish wood or wood product fire

iii) To extinguish electrical fire CO, extinguisher can be used

Which ones are correct?

A) Only (i) and (ii) B) Only (ii) and (iii) C) Only (i) and (iii) D) All of the above
o et 7 0F -

i) Cop SIS T TEIA T ST 9% YA 7T ST 8

ii) ST T AW AHST T AFHST ICITE STNT Kl AT  foIT Zrar g

iii) T &R T AT = o CO, AR = FT 2T 6T STTaT &

TAH { I AT qET 22

A) A (i) M (ii (") B) et (i) i (ii) C) Fa (i) 3 (iii) D) ST T+t
Qﬂﬁﬁi@ Qe Sl@@@ Agdle @Qg

i)Coz oQ10Q GNIGQIGR?P Q?JIGQ ML G?QIQIQI QG

i) @0 @ @0 Qf}‘t@@ Q?JIG? @@I@QI ?JI@ dIfiQ IR FAULIRAIER

i) 69Q0@ @ZIIGP ARQI AR Coz QQIGQ@ ML @AULDIRIIER

A) 6@@@( ¢ (|| B) s@<a (i) 6 (i) C)eaea (i) @ (iii) D) QU6Qia Ae1g
feereft fargma ar=-

i) Co, TaATERTeT g FETTord BT aTa<adar g

ii) ITO g TR AT ATHEST=AT ICATEATIH AT 3T T A AT ara<ar ad

iii) ST AT T FsAtEamaTRar CO, TaTe a9 arawar ad

AT T AT A

A) wF (i) ST (i) B) W (ii) ST (iii) C) wh (i) sfor (i) D) =T |95

Factors those may lead to injury in work spaces are
A) Ignorance absent mindedness and carelessness ~ B) Using unsafe and wrong material a dull tool etc

C) All the above D) None of the above

T TIAT I A1 T 6 (0 (e ame g1 aahal g

A)arsmm AT 7 ST Sl ATILATR! B) STHTAT SlI¥ Tq ATHYUT STH STETIETT ST ol
C) T4 # & |1 D) ST # & #1% Tel

RIIZRER 69R QS GQIIGGL 2IAG NG AIER QI2l 627

A) 281991, IS gIe 989, dIFYRIRAS

B) DAL G @G‘Q@ aQId Ql ¢QIY RUKAER ML R
C) @g6qI® a8 _

D) 06QI8 ag 6996 Q62

FHTHT=AT TSRO ST SIOATHRTHT FHTLO0 0Tt

A) ST ST EAHTETAT ST fAsshTesstiaorT

B) Sqfera Smiur Fehi=t ATe, FHGAT qTe ATl ara<u

C) It el T

D) arefter ek gt ATt
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66. While operating a drill press what you must not do-

A) wear safely glasses ~ B) wear gloves C) wear ear muffs D) wear dust mask
U 3o I FATT THT STThT T TqT Al HedAT AT’ —

A) TAT T TgaqT  B) AT TgAAT C) T HE T D) & @ ler TgaqT
9P @M 699Q JR0INRI @QaSl ANAER 2T Ad RS G0, Q6L

A) ¥R UL QI ARUIR QAR B) 4@ 6qlQQda dfIe @83l

C) 9@ QU A AR @8l D) @ Qi die @aal

AT F2o1 IHa? T FEd SAAATAT 1T FLIAT TR —
A) FTEAT TAT FTA B) gTaHIST =TT C) FETAIA AFT ATA D) @141 d1eah =JAreror

67. Counter sink is the process of
A) drilling a larger hole over the top of a smaller hole
B) drilling a smaller hole perpendicular a larger hole
C) drilling a larger hole below of a smaller hole
D) all of them

Fr3e & Tt v kA g
A) T Fie &g F 37 uF 92T =g a9 B) U a2 f¥g F aH@ad U greT fig amr
C) v =i feg % == v a=7 &g awmn D) =a# & 7T

R24q de 6298 9@ gR gl 69926Q

A) NS 6216 6IR QAU6A IR 9P 9 FAIYIRAIN

B) 4@ Q¢ 08 QU6 N AR 6816 98 FRUAIRNAN
C) 6816 9@ 96% Y9 9@ 9a FAIIRAIN

D) Qa6QIe 72

FTSel 8 B HIATAT THAT g
A) TeTe fesT=aT a¥ 71s fUg g« weor B) HieHT fRgmTaT @ fow sramwey Ber weor
C) == fEEm=aT gl 915 & fI= F=ur D) ITH T T

68. Different types of timber have different density. What is the density of “Teak”?
A) 650 kg/m3 B) 545 kg/m?3 C) 855 kg/m3 D) 785 kg/m3
AT LG il AFST T FAA AAT-3TT 21T g "SI F Fcq F4T gral 872
A) 650 kg/m? B) 545 kg/m? C) 855 kg/m? D) 785 kg/m?
QR Q8 gRIKl0a 98 QedILIaNITea ARl K8l 26S?
A) 650 626 /5" B) 545 6a& [ " C) 855 62 /& D) 785 @& /&
STENTGAT ThTL=AT (Eae=T J9ar avavTe! oo, “fes” = a=ar foha1?
A) 650 kg/m? B) 545 kg/m? C) 855 kg/m? D) 785 kg/m?
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69.

70.

71.

Rip saw is designed for-

A) cutting along the direction of the grain of the wood

B) cutting across the grain at right angles to the direction of the fibers.
C) cutting along the direction of the grain as well as across the grain at right angles.
D) all of the above

o1 ot &1 fRSires T Smar g -

A) TFEST F AT o | e F forw

B) T T faerT § TTAT sl FHHIUT 9 Fled & oy

C) =191 T a9 3 |T7-97T 1 T TR I FTed & oy

D) ik &1

Q9 Q YOIR PRIRR, FAULIRE

A) Q@0 669q @66a !ITQl AR

B) FIQQQ G96Q A9 6RI8I6Q 69Q A0 QTR

C) 690 Q96Q @I 92l ATERSER 69K 12l 69R FITS
D) @aeqla Aag

g = THAT FAT FAT FLOATT ATAT ATe-

A) I AT FE=AT 38 FTIor

B) IHAT ATS < FHIAT=AT T[T HTAU ST TE9IT F=AT ST STET

C) I==aT fRer FTI0r fOraT=r I ATEe FIAT=AT TS HITIT

D) AT T

In which saw adjustable blades, which are passed through the handle and secured by to screws are used-

A) Cross-cut saw B) Hand saw C) Back saw D) Pad saw

o oy TS Fe aret sote |, o6 U S | SR STTaT 8 ST 5 gy geierd A Srar g -

A) FiE-FHTE AT B) g1 et C) ursd &y D) T st .
UIRCAM 690 JdILl il6am ¢d 6@n dIRUN ILle 9 QIR %@@@ @A QLR 69%
PACERA MNALIQ PAULDIREIIN

A) @Q @6 QL B) Q10 @@ C) R @0 D) Qi@ @@
FITAT T USSECad sASHET, A€ GracTHEd ST ATIOT TF=AT ATLTHTA THT el SATATd-
A) FiE-Fe at B) gv< =T C) 5= &t D) 7= &t

Timber is considered sufficiently seasoned for carpenters work when it has lost-

A) one-fifth of its weight B) one-third of its weight

C) one-fourth of its weight D) weight does not reduce during seasoning
ST [ AU o FIH o (T Ao AL AT T ST & ST SH & &7 14T Bl-

A) IHF AL FT qr=at AT B) 39 WY T U-fAgTe 9T

C) I#h WL T TH-ATTE AR D) FISITHT % 9 A FH A5l graT g
@ROR LN QY QI Q°Q§1< QUELIGT 6AERERER F6R9R| QAL 6UEPERER 2| 2AURIN
A) 92IQ BRAPQ 9@ AEAI°E B) ¥2IQ 8@aq 9@ Q914

C) 92IQ 629 9@ 9Q2I°4 D) d@@° AQ96Q BRR 214 AR
AT FETHLAT S8 TR TTEAT TATL ATAA Mg Siogl ATANA =-mm FHT BId.

A) T GHTT T B) e AT TSI

C) T QAT TSI D) Fr=rfav=a1 JodT asi FHT giq Aral

1517_17 (B) 19



72. Desiccating is also known as-

A) natural seasoning B) hot-air seasoning C) moist-air seasoning D) water seasoning

T il Tg Al Fglr AT &

A) TFHIaF T F T gET B) H-g4AT & qATT 2T

C) 71/ gaT1 & qa1< g T D) 9T & JAT gMT

G0 Q0 AR gRAIQ 1) QI

A) dIQGe A&G° B) 2 gl d@G°  C) ava-vala d&F° D) gleq A@a°

STRrERfET AT F1 FgoraTa-

A) TRt T B) SoUI- ga= AT C) siredr-ga o=t D RILRIEREEILE]
73.  The underground portion of wooden post hoardings may be preserved by-

A) polishing B) charring C) Pointing D) Varnishing

TAHST o TIEE IS o STHIA o A9 o AT [ SHH =197 7T ¢ —

A) TfeTer TR B) S{ET FX C) THIET FATHT D) aTfHer FTh

QIO 6912 6213°Q APQ ¢ QA VTS FAUAIRAN

A) a@Rde B) <la° C) aqge D) @u&id°

T2 TIES ISITAT GTAAT AT 8T FHET Saq Fedl I3 Thdl-

A) TSR B) =THT C) ref D) AT

74. Which one is not a preservation process for wood?

A) Painting B) tarring C) varnishing D) skidding
9% 5 F T ARST 6l U G919 ToRAT Al 87
A) JETFAT B) T & C) arfeter FeAT D) fohere AT
6906 R0 IR IR AV JRA Q6L ?
A) 60d° B) QI&° C) @udide D) &&°
T Tt TR &1 ATHSTHT HLEA0 T ATl 2
A) T[T IO B) arfear C) atf=fanT D) fEwfew
75. Zinc Chloride is used in-
A) Kyan’s process B) Burnett’s process
C) Boucherie’s system D) The Noden-Bretenneau Process of Electric seasoning
R FARTZS T TN T8H Zrar 2 —
A) FT AT T B) are it yiehar
C) Zart ¥ STt D) firera Rt it ArE-3e wh

P 6QIANG. YYEQ NLIQ FAILIN
A) 32199 9@l

C) 26009 9@l

21 TS e FATETS ATICA STd-

A) Fraeg giFar

SEIEEIIERMIERI
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B) @a6999 9@l

D) a6n@d e d@6°Q @ 62160R-6265609 69164

B) e gihar
D) zwifaea et Areq- sedq Timar
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76. Which of the following is not a marking tool

A) Punch B) Scriber C) Mortise-Gauge D) Slip-gauge

e § & 9 U o 39 T she 981

A) 9= ~ B)wHEd _ C) HieTzal-iIsT D) feerw-ar

FIRAYO 1RIQ 6296 IR AIF° OR Q6L

A) 98 B) 3Ieea C) GQ@I@@\ Q@ D) 4o o9&

T IO HITHRT 2 ATl (GO FHIOITY)

A) 9= B) ThI=aX C) \ifeq-irar D) feera-3rst
77.  The plucking tendency in planning operation is lessened by fixed a guard with plane Iron is called-

A) Front Iron B) Back Iron C) Pluck Iron D) Side Iron

TATIHT T | AT TFIT I Mg o |1 (9Aa TTE g7 7 &0 ST g 98 Fhgarar g —

A) e AT B) % s C) Wl AT D EIEEIREG

R QIR° 20602R6a G@° 6068ad Y@ §99 dIF QA KF 62IRAN 69K2A6Q IR 699 2INAR
QeI QIeIQ QLI

A) O4 2R B) QIR 2R, C) 9% 2IQee D) AI9@. 2IReR.

AT AR TATHTHT T &f I AT e aeT FHHT HAT Ad ATAT H1T FZurdard-

A) e g B) % @Te C) wI g D) #réz e
78.  For planning concave and hollow surface we may use-

A) Trying plane B) Compass plane C) Rebate plane D) Plough plane

FIAA AT GG qag =l AMSAT I o o7 7 TIRT § A7 & —

A) ZTET I B) FUTH W C) ez == D) ™= ™=

FREPE, B 26nI JIRIG GIF° AR AIR AIEF LI MR FRAIRS

A) S19° 698 B) @¢lq 699, C) Q699 69Q. D) Q6 692

AT STTOT Tehos TETHAT AT FTaT AT ATTE TR [-

A) TRt B) FUTH I C) frae == D) =g =i
79.  Which one of the following is/are planes?

1) Jack plane i1) Sash Fillister iii) old woman’s tooth iv) chariot plane

A) Only (i) and (iv) B) Only (i), (ii) and (iv) C) All of them D) Only (1)

9 & & #1887

SERSE] ii) grer feRfereex NEGEEIGE R iv) =fue e

A) Fae () ST (iv)  B) e« (i), (i) ST (iv) C) T T HAY D) Fae (i)

FIRYO RIQ 6296 (9eR) 699 26S?

) QIR 6ge i) A TR iil) BRe 6AIRY G2l iv) QIS 6GQ

A) 6a9a (i) 6 (iv)  B) 6@ax (i), (i) 6 (iv) C) aueqie A9g D) 6@2a (i)

ATATA 0T Tl SATEa?

SERSG] ii)erer feRfereex iii)sfree a= T iv)=aTte e

A) F (i) sfor (iv) B) %% (i), (ii) 3fur (iv) C) Tfier a9 D) % (i)
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80.

81.

82.

83.

84.

Which one is not boring tool?

A) Brad-awl B) Gimlet C) Brace
ZAH A AT AT ARl 22

A) SE-3a . B) fireie . C) s+
FIRAYO RIQ 6RRAG 6NR° TR Q6L ?

A) Q1e- am B) dceme. C) 624
efter Fror AT 2 AT

A) d=-aie B) R#ere C) s
Joint which is not use for connecting boards in the same plane-
A) rebated B) dowelled O) lap
TR STTE T J3T 9T Tag § 91 S o forg 927 gar 8 —
A) faes B) Sraee C) &

D) Punch
D) 9=
D) s

D) 9=

D) edges-shot

D) TsH-4Tfe

AR 6da6R GS‘ZQI@%},PL Q6T AR AR G dILlg ML @ULdInea N

A) Q6966@ B) 6@I6@n@ C) a9

THT AT TS HelFeHLTATHLAT VAT ST ATTLAT ST Ao -

A) e B) =taee C) o7

Joints used for joining timbers not in the same straight line are as-
A) Lap B) Cogged C) Notched
g AFHZAT ST THTT et T # 7 2f 37 e & oy s s ¢ -

A) 3T B) Fve C) e

D) 1699 I6'
D) TsiH-9rfe

D) All of these

D) =98 & |+

@109 691690 FAR IR LG PG YIFIA AAIR ANY 6QHIER Q2N 6228 -

A) QUi B) Q4@ C) 6919@
fEa SITETATHAT aTaeedT ST Sse g Ul o CUHed T9dqTd-

A) AT B) #ive C) Aif=e

Wedges of hard wood are used to tighten joint in-

A) Fished joint B) Scarfed Joint C) Lap joint
FSTC AhET ol oheAl T STANT 0T SITE e o (10 ToRAT SITAT 8 —
A) fthee st B) FHITHE ST C) AT SIE
26Q AR FIRG FRR! AIR 208 RI0Q YLIQ MR FRUUIRAIN
A) 3Q@ @94 B) QIQETE 94E C) QYT @94
FSF ATHSH AT g HIUT 12 qZ FLOITHRLAT ATTLA ATATA-

A) Tihez STEe B) THTHE (s C) &7 Sige
A halved joint may secured by-

A) bolts B) nails C) screws

U eft STTE T ZEe qeiera R ST Jear & -

A) Treed B) #irer C)*&

@ Qe @E 9Ll QIQl %6)@@ @D

A) 6Q1R9d B) 6aad C) 9@

ST SIS e I THT AT AT I-

A) T B) wed C)% &
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D) 06QIe AA1g

D) AT 3T

D) All of the above
D) ST T+t
D) @d6qia 901

D) AT 3T

D) all of the above
D) 39 T+t
D) @d6ia 9019

D) AT T



85.

86.

87.

88.

In which Tenon joint a wedge is used in to tighten the joint-

A) Mortise and Tenon joint B) Double Mortise and Tenon joint

C) Haunched Tenon joint D) Tusk Tenon joint

Fe 299 STIE § U el &7 T S Fa e o for B smar g —

A) HIeTeH #iTedd S B) TIET HISTSH 3iiTedd S

C) g=s & Si1g D) zER A S

6QR COPR, ™MILCR I NG, QA9 AR RN ML PAULIRIN

A) 6915198 8 699R P& B) @R 671198 8 6697 &

C) 28 609 @94 D) 0% 6092 @44

FIICAT 27 STeeHed TM=Y gl STl 98 HLUTHRLAT aTqLe ST~

A) T oAfor a9 Sfze B) =&« Hifed SATIU1 oA STise

C) givae 2A9 Jse D) a&F aA Siea

Iron dog is made up of

A) Cast Iron B) Grey Iron C) Wrought Iron D) Ductile Iron
AT SHT THH FAT 21T &

A) FTEE A B) & s C) i< o D) SeeTs I
2IR0R, @6 926Q 9Le

A) QI8 2IReQ B) 69 2IQQQ C) ¢ 2R, D) @261aR 2R,
AT ST FHIATAT FATAAAT FHAT

A) FTEE AT B) I s+ C) Tie s+ D EEHEERD]
For fixing wood work against stone or brick work we may use-

A) A Lewis or rag bolt B) Split- bill or snipe bills

C) Both of the above D) None of the above

AT AT 5 A UL AhET K3 TATTIT e o6 [o1T ZH AT TN FHT qohel & —

A) T ST A7 G diee B) feqete-faet a7 =z foar

C) STIH a1 o 3 D) STI<F H & aﬁei GEdl

IR Ql RGIEQR RO RN TP PRV IR I LR ML @I

A) RG9 QI QUG 6QINS B) ARc @@ QI 4Iad R

C) R96QI8 292 D) Q06QI® alg 6896 Q62

A) forfes f&ar 41 aiee B) fEwete — forer fefar fora faer

C) =refter Aredt D) ever e &Y AT

Which of the following below is/are not wire nail

A) spike B) clasp nail C) brad D) all of them
8 ® | A 9T 99 5l 8/

A) TTEF ~ B)FTETAA RS E L D) =98 & |+
FIAYO 1RIQ 6296 (9ea) BAR 69R 268

A) 29Q B) Q199 69R C) QIe, D) 96aIe Aag
ATATA HIOTAT/ J ATAL ATl

A) TTSH B) TATET ST C)s= D) =Tt 79T
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89.

90.

91.

92.

For window shutter the type of joint may use-

A) Rule joint B) Bolt joint C) Secret screwed joint D) None of the above
fergeht erex % foro v wohTe o7 STTE YT | 7T ST FeRdT § -

A) = SE ~_ B)drESE C) e TFe e D) ST & & FIE AL
AR64I AGQ IR 692 JRIAQ FIEY MR AN

A) QR @ B) 6QIRG @44 . .

C) 46Q% 920 & D) QU6QI8 F1IG 6Q06 Q62

ferefir=ar erex Far Forar SAtEe ATTAT ST-

A) = STize S ECEIEE C) forrve T Sifie D) ATeier We ¥ AT

A wooden beam spanning an opening and supported at both ends, flitched with an iron plate or trussed is called-
A) Bressumer B) Girder C) Both of them D) None of them

T el & A8 STH Uk GAT 31 IMT AT T ASIAF g, AT wie AT 21ee o o= 73T 21, Fgarar g
A) faeme B) e C) =% ¥ T D) =7H & FIE A2

9@ @10 Q9 QIF° 9@ 6U8° 2 AL Z°H6a ARARIYIY, IR IR 2IRAR 646 86 Fe I ¢
621021 91219 QLI

A) 6229Q B) deea _ _

C) RU6QI8 292 D) Q06QI® alg 6896 Q62

T T FH ATAT FTH U -

A) SEEY B) fiet C) Zr=t D) T U & ATet
In Roman mouldings the curves are segments of-
A) ellipse B) parabola C) circle D) involute
TIAT HITeETT H AT 676 T gId & —
A) S=THRTT B) v¥aed C) 3w D) =i
EQUNR 6LINB°6R AR 6208 921 6491641
A) 9RoQ B) QlQIeIfl C) ae@ D) QR6aIue
TTHA AITSTSTHEY Fiosl AT FIT=AT LUTES FAHATA-
A) SETFHRAT B) %@ a C) TMHTHTT D) TFHHFTT I[aaia
Heading joints used in flooring are-
1) squared ii) splayed iii) tongued iv) forked
v) grooved
A) only (i), (i1) and (iii) B) only (i), (iii) and (iv) C) only (i) and (ii) D) all of the above
WRTRAT & S BT ST & —
i) T ii) Tre iii) 72 V) s
V) 15
A) Fa (i), (ii) 3T (i) B) @ (i), (iii) 3f¥ (iv) C) Fae (i) i (ii) D) ST ¥t
6LIG°6Q QLG 62G° PG 62T
i) 6IAIOR ii) 6an@ iii) oare iv) I9Q
v) 999
A) s@aa (i), (i) @ (iii) B) eaaa@ (i), (iii) 6 (iv)
C) caa@ (i) 6 (ii) D) @d6QI8 QAeg
AT aTq'@r ST 23 St 2
i) FTRIT STEATT ii) ST i) T V) TTe5 STeeler
G
A) & (i), (ii) =for (i) - B) WE (i), (i) 3T (iv)  C) W= (i) |rfor (i) D) AT T
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93. In floor joint the usual ratio of depth to breadth is

A)3:1 B)3:2 O2:1 D) none of these
FAR SIE | TGS & ATETS 1 AT ST &
A)3:1 B)3:2 C)2:1 D) TH & FIE A2
6 PILER TR0 gL BAIQQ AQdlo 62Q8
A)3:1 B)3:2 . .
C)2:1 D) QU6aI8 alg 6996 Q62
TATSTT STTSaHET FTETTOTO Greft oy &= oie 6l Tea?
A)3:1 B)3:2 C)2:1 D)W@'@H‘I‘@
94. Floor are strengthened by
A) Herring-bone bridging B) Solid strutting
C) Any of them D) None of them
FATT I THH AT TR AT 1T &
AR IR R B)wife wf C) = & F7E UF D) =¥ # 71 AEF
QRS NRIQIA ARNQE, 6L
A) 625°-6Q1e Q&° B) Q@@ a&° _ _
C) 6261613 66115 D) 9g&@@ 1Ig 6996 Q62
AT AT ATHE AT AT ST
A) gHT-a farfsir B) wifere wgfew C) AT el &f D) T o= ATl
95. The timber supporting the common rafters are known as-
A) Spars B) Eaves C) Purlins D) Jack rafters
TATHTT TTFT T TETAAT & ATAT AFST FgaATdl & —
A) TITH B) o8 C) uxfei® D) S TT%ed
@O dILl ARJIIQES] AXSTNR AL SISt QIR KLl
A) A4 B) a@4 C) qwﬁ@\q D) 4@ QT
A) TITE B) Uas C) qfer==r D) S 19"
96. In which type of saw a narrow blade held in tension by a wooden frame and string?
A) pad saw B) compass saw C) turning saw D) dovetail saw
TR TR T S & U TAe so€ il AR o BH ST 8T F T Y TdT SaT 8?2
A) T sl SDERIEEIM C) =f+r sy D) Saeat 3T
6eR JRIQ 206 R0 6T 6 e QIQU Aml Gﬁ@g 6dPE QSR ?
A) diIQ Qe B) @mq @Qe C) 0€l° @@ D) 6QI106oM @0Q
T e ITq ST Ai(Fad) Fedce9d g ATHE! Tl ST AT € SITd?
A) = 7t B) sume AT C) =i+ =t D) Sraea Tt
97. Saws are sharpened by —
A) Oil stone B) Triangular file C) Grinding wheel D) All of the above
AT U T ZEY &6 ST -
A) T T B) faehreT ®reer C) UTs 3w =g D) ST ¥t
@A LIQIA ANYE KAULIREI]
A) 2R 6119 B) ClgRIQ FIam C) qIQd° Laom D) @d6aia 901
TIAT (FLAATAT) FATHT LTT FLATI—
A) sitEe T B) freroft wrEe C) ITsfE = =T D) T T
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98. The tool used for quick layout of angles particular for rafter

A) speed square B) framing hammer C) twist drill D) cross cut saw

e fer fafara wor & qia faeame & fore aoes s 8

A) T TFET B) ThiHT gwT C) Rae fgo D) i€ T 3T

@I Q@ EMUIQC, aIR QLG Gm 64N A QAT R

A) 32 629 B) 6a@i° 21a1Q C)Ja @m D) @4 96 @9

TTFTIT HIFATH @ AT TATIATH STEHITH FHIOTAT ATIATAT ATTL FHeAT SATAT

A) T TFHaT B) T graTSt C) Rawe R= D) i€ &e |7
99. The sharpening of a tool on a sharpening stone by rubbing the tool on the stone-

A) toenailing B) whet C) compass saw D) counter sink

T SIS ol GT% T ATeAT Ted¥ T WY AT G FHeAT —

A) TTATeRT B) z&e C) &9t 3t D) #r3ex &+

@ MR DR RQUERQ QAXRQSI R Q8 el =ata g@ﬂl@_ QLI

A) 616QM° B)ege C) @¢lq @& D) @4 da

T 9T UTAT ATEATAT LT 0T ST |HTEH 9T 201 FZ0rsl-

A) TraTeRT B) =2< C) #FumH =t D) FT&ex i
100. The cutting of the end of a piece at any angel other than right angle —

A) bench plane B) miter C) auger bits D) rabbet

TWRIOT 3 SATAT T FI0T 9T U Zohe o T Y Fers—

INEERSG] B) Hiex C) sive faea D) ¥ae

Q@ 99Q 6419 2°8q AT 6Q18 SR1 IR 6146 RITR

A) 6Q8 69K B)fioa C) g9 364 D) Ql6Qe

TETRIT AFSATAT AdSAT AN HTSH AT ATA R TETAT HIATT HITTATAT FHIT FZUraTa-

INEERSG] B) firex C) st faea D) ¥a=
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ROUGH WORK
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ROUGH WORK
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